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Preface

Targeting Mathematics is a series of textbooks and workbooks written based on the latest Primary
Mathematics Syllabus provided by the Ministry of Education, Singapore. This series supports the
Concrete-Pictorial-Abstract approach and uses ICT tools to enhance conceptual understanding.

It incorporates the use of manipulatives, videos and online math activities as teaching aids in teaching
mathematics.

The exercises in the workbooks are designed to support learning in a progressive manner. Through
a combination of drilling, challenging and problem solving exercises, pupils can consolidate their
mathematical concepts and build confidence in learning mathematics.

Features
ance, Tagk

: Recq” Serves as a form of alternative

Allows pupils to revise what they have learnt assessment for pupils to demonstrate their
before. : ; understanding of mathematical concepts and
skill through hands-on approaches.

4

L2 Wor'keheete

Level 1 worksheets provide questions that
test a pupil’s understanding of mathematical
concepts.

Level 2 worksheets contain more challenging
questions where higher order thinking and el T
process skills are required. | 222 e s Ty

T g e | | B, = =513 |
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Activities are designed to challenge

mathematical concepts learnt.
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Name: Class: Date:

- Recdll (Counting and comparing amounts of money)

Choose the correct amount of money and write it in the box.

L 78¢ ) ($27) [ 90¢) [ $71)

(@) N (b)) A

A
N
Y
N




(@) ~ &

-

(e) thirty cents

s

(g) sixty-five cents

s

Write each amount of money in the box.

(b) N

(d)

o

() twenty-eight dollars

s

(h) ninety-five dollars

s




Tick the set that shows more money.

(b)

Tick the set that shows less money.
(a) ) i )




Write the correct amount of money each child has.

has the greatest amount of money.

has the least amount of money.

o Solve the word problems.

(a) Mrs Lu pays $6 for a watermelon.
She has $12 left.
How much money does she have at first?

Shehas$__ atfirst.

(b) Janice has $15.
She buys a present for $9.
How much money has she left?

Shehas$__ left.




Name:

Date:

Counting Money in Dollars and Cents

B ) Worksheet |

Choose the correct amount of money and write it in the box.

. $0.70 ) ($55.00) ( $4.80 ) ($28.05)

(a)

(b)

4 A




@ Write the amount of money in two ways.
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6 Write each amount of money in the box.
(a) (b)




eighteen dollars
and ten cents

| twenty-two dollars \
and fifty-five cents

thirteen dollars

six dollars and
eighty cents

sixty dollars and
five cents



© Moatch.

- 3 three-dollars
~_and seventy cents

C_©O thirty-two dollars

A

— ¢ .twenty-e.'lght dollars .
__andfive cents

~ tendollars and
~eighty-five cents

-~ fifty-dollars and
-’ __fifty-five cents

forty-four dollars o
_and forty cents




) Write each amount of money in the box.

(a) 60 cents

(b) 95 cents

(c) 58 dollars 75 cents

(d) forty dollars and fifty cents

(e) eighty-three dollars and five cents

() thirty-six dollars and fifteen cents

Fill in the boxes.
The first one has been done for you.

(@) $30.20 or 30 dollars and 20 cents

s
I
s )
r

] cents

j cents

] cents

cents

(b) $42.10 or[ J dollars and [
(€) $86.55 or[ J dollars and [
(d) $120.40 or[ ] dollars and [
i i3
(e) $205.55or 5 ) dollars and ]
(f $937.95or \ ]dollors and I

cents




Name: Class: Date:

- ,, Worksheet Z

@ Circle the correct number of notes and coins needed to pay for
each item.

(a)







Name: Class: Date:

Worksheet 3

Siti has $30.
She wants to buy 3 toys.

GRAND n (

Which 3 toys can she buy?
Put a tick (/) in the box.
Circle the correct amount of money she has to pay.




@) Peter counts and writes the four amounts of money as shown.

Write the correct amount in the box if Peter's amount is not
correct.

U g— (b)

(c)

How much more money does Ravi need to make up $1?
What Ravi has What Ravi needs




Tick () the correct amount of money.

Janice went shopping with her mother.
She bought a pair of shoes for $35.

Which two ways can she make up the amount of money to pay
for the shoes?

&




© wWrite the number of coins or notes needed to make up the given
amount.

/_

JU gy




Name: Class: Date:
Converting Money
(B, Worksheet 4







Date:

$4 = 400¢
$4.55 = 400¢ + 55¢ o

= 455¢
(a) (b)
$6.15 = ¢+ ¢ $7.05 = ¢+ ¢
= ¢ =___ 4
(c) (d)
$8.40 = ¢+ ¢ $9.60 = ¢+ ¢
= ¢ =____ (¢

Write the correct amount of money in cents.

(a) $2.50 or[ ](c (b) $3.28 or[ ]tt

() $4.10 or L Jcr (d) $8.85 or[ jd:

(€) $7.75 or[ ] ¢ ( $9.30 or[ J&




Q Change each amount of money to dollars.

800¢ = $8
855¢ =800¢ + 55¢ -

= $8.55
(a) (b)
305¢ = ¢+ ¢ 485¢ = ¢+ ¢
=% =% _
(c) (d)
530¢ = ¢+ ¢ 955¢ = ¢+ ¢
=% =%

&) Write the correct amount of money in dollars.

(@) 30cors| ] o escors| |

(€) 235¢cor$ L j (d) 388¢ or $[ j

(e) 580¢or$ [ ] () 750¢ or $[ ]




Name: Class:
Comparing Amounts of Money
Workehee.t 6

Write the amount of money in each set.
Which set has more money?

Date:

Set has more money than Set

Set has more money than Set




Write the amount of money in each set.
Which set has less money?

Set ~_has less money than Set

Set has less money than Set




Name: Class: Date:

Worksheet 7

Compare the 3 amounts of money.

Janice's savings Amiya’s savings Siti's savings

Dollars | Cents | | Dollars | Cents Dollars | Cents
25 20 36 20 28 55

(a) has the most savings.

(b) has the least savings.

Compare the price of each present.

(a) Present costs the most.

(b) Present costs the least.

(c) Arrange the prices of the 3 presents in order.
Begin with the smallest amount.

s s sl

smallest




© These items are for sale in a bakery.

8125 /$2.50/| 5350/ LR
doughnut chocolate brownie cupcake

(a)

(b)

(c)

(d)

(f

Which item is the most expensive?

Which item is the cheapest?

Name an item that is more expensive than the chocolate.

Name the items that are cheaper than the chocolate.

and

Peter paid $3.40 for two items.
What are the two items he bought?

and

Ravi has $5.
How much more money does he need if he wants to buy
the brownie and the chocolate?

He needs $ more.




Name: Class: Date:

Word Problems

Complete the models and solve the word problems.

@ Janice has $1.
She buys a bottle of water for 45¢.
How much money has she left?

[

e

-| amount paid for water - amount left
She has C] ¢ left.

@ siti has 90.
Her mother gives her 50¢ more.
How much money does Siti have now?

) U

A

Siti's money at first | money from mother

-
Siti has $ @ now.




© Ravibuys a new T-shirt for $18.
He pays for the T-shirt with a $50 note.
How much change does Ravi receive?

) U

i

T-shirt change

-

Ravi receives $ D change.

@ Amiya has $48 in her coin box.
Her grandmother gives her another $57 on her birthday.
How much money does Amiya have altogether?

) O

e

money in coin box ~money from grandmother

g

-

Amiya has $ @ altogether.




Name: Class: Date:

_Wor‘kgheet 9

Al
L

Solve the word problems.

) Mrs Liu bought a chicken for $6.
She bought a duck that cost $12 more than the chicken.
(@) How much did the duck cost?

The duck cost $ @ .

(b) How much did Mrs Liu spend altogether?

Mtrs Liu spent $ @ altogether.

©) Geetha had $585 at first.
She spent $128 on a bag and $386 on a washing machine.
(@) How much did she spend altogether?

She spent $ Cj altogether.

(b) How much had she left?

She had $® left.



<) Janice saves $5 each week.
How much can she save in 9 weeks?

She can save $ C] in 9 weeks.

Sani bought some cartons of milk for $24. -
Each carton of milk cost $3.
How many cartons of milk did Sani buy?

Sani bought D cartons of milk.

&) Roy spent $80 on 10 movie tickets.
Each movie ticket has the same price.
What is the price of each movie ticket?

The price of each movie ticket is $ @ .




Name: Class: Date:

Worksheet 10

Solve the word problems.

Susan bought a fan for $35 and a television set for $328.
She gave the cashier $400.
How much change did she get back?

She got back $ @ change.

) Devi spent $86 on a dress and $480 on a notebook computer.
She had $150 left after paying for the dress and notebook
computer.

How much money did she have at first?

She had $ D at first.




Peter has $250.

He wants to buy a camera for $200 and a watch for $98.
How much more money does he need?

He needs $ @ more.

Siti and her family are at a restaurant.
They want to place their orders for food.

This is the menu.

~ —

Appetizers .

Garlic bread
Mini pizza
Meat platter

Pizza___

Chicken supreme
Salami
Seafood

Pasta__ (

Bolognege $8
Cream and mughroom $6
Vegetarian $5




(a)

(b)

(c)

(d)

(e)

Which item is the most expensive?

Which item is the cheapest?

Siti's father orders the meat platter and 2 garlic breads.
How much do they cost?

They cost $ @ .

How much does 1 salami pizza and 1 seafood pizza cost
altogether?

They cost $ C} altogether.

There are 5 people in Siti’s family.
Each person orders the cream and mushroom pasta.
How much do the pasta cost altogether?

They cost $ D altogether.




drawing
block

file

(a)

(b)

Janice bought a drawing block and 2 storybooks.

She paid $ D altogether.

Peter bought 6 markers.
He paid for the markers and got $40 back from the cashier.

He paid the cashier with a $ @ note.

Ravi had $80.
He bought two items and had $62 left.

He bought a and a




Name: Class: Date:

Rerformance, Task:

: e
T S —

Activity: Paste a receipt that shows the prices of items bought by |
your fcmlly ata supermorket

J
4 A
- Py

(@) Which item is the most expensive?

How much does it cost?

(b) Which item is the cheapest?

How much does it cost?

(€0 How much does your family pay for all the items?




Amiya bought some books and pens.
Each book costs $4 and each pen costs $1.
She bought more books than pens.

She spent $17 in alll.

How many books and pens did she buy?

Understand

o  What is the price of each item? -
o How much did Amiya spend in all?
o Did she buy more books or pens?

Plan
o Make the amount closer to $17 with each guess.

Solve

o Make some guesses.
First Guess:
3 x $4 = $12
3 books cost $12.

Is the amount $17?




Second Guess:
4 x $4 = $16
4 books cost $16.

Is the amount $17?

Amiya bought @ books and @ pen.

Check
o Are there different ways to get $17? Yes.

We can have 3 books and @ pens or 2 books and Q

pens that cost $17.

However, [:] books and @ pen is the correct answer

because there should be more books than pens.

o Draw a diagram to check the answer.




Math Journdl

There is a stored value of $1 left in your EZIlink card.
You want to top up the cash value in your card.
You can choose to top up $10, $20 or $30.

How much will you choose to top up? Why?

What is the total value in your card after topping up?




Name: Class: Date:

ldea of Volume
B Worksheet |

Tick (¢/) the correct sentences to describe the volumes.

(a) — e

O Glass A has a greater volume of water than Glass B.
O Glass A has a smaller volume of water than Glass B.

O Glass A has the same volume of water as Glass B.

O Glass A has a greater volume of water than Glass B.

O Glass A has a smaller volume of water than Glass B.

O Glass A has the same volume of water as Glass B.




(c)

53 | 1 {
é@ : y % Y
L)
X

X

Container Y.
Container X has a smaller volume of water than
Container Y.

O Container X has the same volume of water as
Container Y.

A
O Container X has a greater volume of water than

Look at the volume of water in each container of the same size.
Put a tick (v) if the statement is true.

A B C

O Container A has the greatest volume of water.
O Container C has the greatest volume of water.

O Container B has the smallest volume of water.

O Container A has the smallest volume of water.




e Put a cross (X) if the statement is not true.
Each jug is of the same size.

O Jug A has the greatest amount of water.
O Jug C has the least amount of water.
O Jug C has a greater amount of water than Jug B.

0 Fill in the boxes.
“@ 1

Container Q has the greatest amount of water.

Container @ has the least amount of water.

Y ] -
< H oG

Container D has the greatest amount of water.

Container Q has the least amount of water.




Container @ has the greatest amount of water.
Container D has the least amount of water.

Fill in the boxes.
Siti and Janice use bottles of the same size to pour water into 4

different containers.

ST e
Eaip i

B

(@) There is more water in Container X than in Container @

(b) There is as much water in Container W as in Container

() Thereis less water in Container W than in Container D




Name: Class: Date:

0 Fill in the box.
The tea in Jug A and Jug B was poured into glasses of the same
size.




Q Fill in the boxes.

The fruit juice in Jug C, Jug D and Jug E was poured into glasses
of the same size.

e = =
e e e e _

— 1 — —

p ‘wm 1 p——1 t——1 1 1

‘_," i‘-—‘ i‘ 4‘ " 1 - ‘1‘-;._.“ 1
| i EE !‘ h_! | -_! | | 1l

(@) Jug C has less fruit juice than Jug D

(b) Jug C has more fruit juice than Jug @

(c) Jug D has the greatest volume of fruit juice.




Name: Class: Date:
Measuring Volumes in Litres
Worksheet 3

0 Compare the volumes of the containers.
The carton of milk has a volume of 1 litre.
Write the words ‘more’ or ‘less’ to describe the volumes of the
other containers.

_ water container

oil container

milk carton & -
® soda bottle

(@) The volume of water in the water container is

than 1¢
(b) The volume of tea in the cup is than 1¢.
(c) The volume of oil in the oil container is than 1¢.

(d) The volume of soda in the soda bottle is
than 1¢.




0 Write the volume of liquid that was in each container.

SORGELL |

.«,.
i
5

P




6 Write the volume of liquid in each container.

(a)

(c)

| —10¢

(b)

(d)

104

e




O Colour to show the volume.

“ 104

1¢ of water

S Tt

EEREEEEEN

6 ¢ of water

© 10 £

8 ¢ of water

(b)

(d)

e

RENSRT AN

T T T T

10 ¢ |

== i’i

=y

—
4 ¢ of water

|

10¢

9 ¢ of water

10¢

10 ¢ of water




&) Tick (v) the container with the smaller volume of liquid.

(a)




Arrange the containers from the greatest volume of liquid to the
smallest volume of liquid.

@

greatest

b 5




Compare the volume of water in each container.

i =1¢”

aea -
eiiE

ELERLILL) | fibbE i

(@) Container D has D ¢ of water.
Container E has @ ¢ of water.
Container F has Dz of water.

(b) Arrange the containers from the smallest volume of liquid to
the greatest volume of liquid.

_ JC JC )

smallest




0 Compare the volume of water in each container.

10¢

P | Q | R
(a) Container P has @z of water.

Container Q has D ¢ of water.
Container R has D { of water.

(b) Container P contains Oz more water than Container Q.

Container Q contains Oe less water than Container R.

(c) Arrange the containers from the smallest volume of liquid to
the greatest volume of liquid.

. J

smallest




Name: Class: Date:

Word Problems
Worksheet 5

Solve the word problems.

There are 18 £ of water in a water dispenser.
Janice fills up her water bottle with 2 £ of water from it.
How much water is left in the water dispenser?

There are D { of water left in the water dispenser.

Ravi and his brother, Kumar, painted their house.
Ravi used 5 £ of paint.

Kumar used 2 £ more paint than Ravi.
How much paint did Kumar use?

Kumar used Dz of paint.

At a camp, 2 children poured water into a pot to make soup.
Each child poured 4 £ of water into the pot.
How many litres of water were there in the pot?

There were @ { of water in the pot.




&) A farmer had 21 ¢ of milk from his cows.
He poured 3 £ of milk into each bottle.
How many bottles did he fill?

He filled D bottles.

e Raju filled 2 containers with water from a pail.
He then had 6 £ of water left.

What was the volume of water in the pail at first?

41 24

The volume of water in the pail was Qé at first.

0 Mtrs Li prepares 30 £ of fruit punch for a party.
She pours them equally into 5 similar containers.
How many litres of fruit punch are there in each container?

There are Dt of fruit punch in each container.




Class: Date:

2 Worksheet 6
Solve the word problems.

0 Look at the different containers of water.

w00 | | =t ] | = 0e |

A C D

(@) How much more water has Container C than Container A?

Container C has D £ more water than Container A.

(b) What is the total volume of water in containers A, B and C?

The total volume of water in containers A, B and C is

T




Q There are 32 £ of apple juice in containers X and Y altogether.
There are 17 { of apple juice in Container Y.

How much more apple juice is there in Container Y than in
Container X?

There are Dt more apple juice in Container Y than in
Container X.

@ Mr Li prepared 64 £ of lemon tea.
He sold 25 £ of lemon tea in the morning.
He sold 5 £ of lemon tea in the afternoon.
What was the volume of lemon tea left?

The volume of lemon tea left was D L.




Name: Class: Date:

erformance, Task:

Activity: Use an empty 1-litre bottle to measure water in litres. ?

Pupils can work in small groups.
Provide each group with a pail filled with some water and an empty

1-litre bottle.

Find the volume of water in the pail.
Put a tick (¢) in the box for each time the bottle is filled with 1 litre of

water.

Number of times
the empty bottle is
filled with 1 litre of
s e o

The pail has about D litres of water.




~a

Problem Solving

A water trough had 30 £ of water.
Janice and Huiling filled their watering cans with water from it.

Janice had 8 £ of water in her watering can.
She had 2 £ more water than Huiling.
How many litres of water were left in the trough?

Understand

o How much water was in the trough at first?

o How much water did Janice have?

o How much water did Huiling have?

o How much water was taken out from the trough?

Plan
o Draw models to solve the problem.

56 ¢




Solve
o Find the total amount of water taken out.

8 64

ey T8 e

Janice's water | Huiling's water

K -

?

Find the amount of water left in the trough.

304

Janice’s and Huiling’s water Amount of water left

14 ¢ ?

Check

o Try working backwards to see if you can get the amount of water
in the trough at first.




i

! Math Journal

Do you know how much 1 litre is?
It is as much as the amount of milk in a 1-litre carton.

Look at some of the activities we do in our daily lives.
Tick if each activity requires less than 1¢, about 1£ or more than 14 of

water.

Activities

Lessthan 1

More than 14

Brushing teeth

Taking a shower

Washing clothes in a
washing machine

Washing a car

Washing dishes

Write how you can help to save water for some of the activities above.




Date:

Recall (Reading picture graphs)

0 Look at the picture graph and answer the questions about the
pupils in Class 2F.

Favourite Sports of Pupils in Class 2F

Football ‘@4

IR

Table Tennis ' -.

e

Each @ stands for 1 pupil.

(@) How many pupils like running? D

(b) How many pupils like basketball? @

() Which sport is the most popular?

(d) How many fewer pupils like badminton than football?




a group of children.

Our Favourite Television (TV) Programmes

The picture graph shows the favourite television programmes of

Mot

2

Yt

2 s

;.a ;";j_;

— b
s A /o’
Yot Y Yok
- °a s 56
b Nt b ot
0 oh o AE
b b b h
o s & <
a5 s i a0
Y St b Nt

Animals In Action| Comic Heroes My Friends Tell A Story

Each ‘;; stands for 1 pupil.

(a) D more children like watching ‘Comic Heroes’ than

‘Animals In Action’.

(b) D children like watching ‘Tell A Story” and ‘My Friends’

altogether.

(c) D fewer children like watching ‘Comic Heroes'’ than

‘My Friends'.

(d) The most popular TV programme is

(e) The least popular TV programme is




Name: Class: Date:

Picture Graphs with Scales

Peter’s primary school organised a carnival to raise funds for
needy pupils.

The picture graph shows the amount of money collected at each
game stall within the first hour.

Stall A

Stall B

Stall C

Each stands for $2.

(@) Which stall éollected the greatest amount of money?

How much did it collect?

It collected $ D

(b) Which stall collected the least amount of money?

() How much more money did Stall A collect than Stall C?

Stall A collected $ D more than Stall C.

(d) How much less money did Stall C collect than Stall B?

It collected $ D less than Stall B.




Q Look at the picture graph and answer the questions about the
items in a school bookshop.

Items in a School Bookshop

>D BB

L D>
\ D> D> D> D> D> B> > > D>

Notepad Pen

Pencil

Scissors

Each A stands for 3 items.




(a)

(b)

(c)

(d)

(e)

(M

(9)

(h)

A A stand for D items.
So, there are D staplers.

How many notepads are there in the bookshop?

-0

There are D notepads in the bookshop.

How many pencils are there in the bookshop?

-0

There are D pencils in the bookshop.

The bookshop has the most number of

It has the least number of

There are 12 pairs of

There are 9 more pencils than

There are 6 fewer notepads than




e Pupils in some Primary 2 classes were asked about their
favourite fast foods.
The picture graph below shows their choices.

Favourite Fast Foods of Pupils in Primary 2

- [T
I
i [ J 1IN
Orion Ring / / /
a1

o /smds rapiie |

/ stand for@ pupils.
So, D pupils like




(b) How many pupils like burgers?

-

)

pupils like burgers.

SR

() How many pupils like pizzas?

(-0
D pupils like pizzas.

(d) How many more pupils like burgers than pizzas?

SN
D more pupils like burgers than pizzas.

(€) 40 pupils like

(f) D more pupils like fried chicken than burgers.

(9) D fewer pupils like onion rings than pizzas.

(h) Which food do pupils like the most?

() Which food is the least popular?




The picture graph shows the number of chickens Mr Sani sold
during a certain week.

Chickens Sold from Monday to Friday

Q0 < L
Q0 <L <0< Q<0

QO QI
<00 <QC < 0 <L

U

Monday Tuesday | Wednesday | Thursday Friday

Each stands for 5 chickens.

(@) The same number of chickens were sold on

and

(b) The most number of chickens were sold on

(c) D chickens were sold on Monday.

(d) There were D more chickens sold on Monday than on
Wednesday.

(e) There were D chickens sold on Wednesday and
Thursday altogether.




Name: Class: Date:

The picture graph shows the number of road accidents in 2013.
Road Accidents Involving Vehicles in 2013

O|0[|0O|0]|0]0|10|O
O|0|0|0|0
O|0|0|0|0
O|0|0|0

Motorcycle Car Lorry Van
Each () stands for 4 vehicles.

Use the picture graph to complete the report below.

4 )

Most of the road accidents were

accidents. There were as many

accidents as accidents. Some of these

accidents took place because the drivers were tired and sleepy

or they were speeding. accidents took

place the least number of times.




Janice uses shapes to decorate her bedroom.




Tick (v) the picture graph that matches each type and number of
shapes Janice uses to decorate her bedroom.

(a)

Shapes Used to Decorate Janice’s Bedroom

suare | © ® ® ® ®

Circle 6006066 O

Rectangle | © ©® ©® ©® ©® ® ® ®

Triangle @ @ @

Star OXCECXCECXSKSKSKS,

Each () stands for 2 shapes. O

(b) Shapes Used to Decorate Janice’s Bedroom
Suare | ® ® ® ®
Circle e 6 6
Rectangle | ® ©® ® ® ® ® ®
Triangle e 6 6 ®
Star ©®0 06000 O®OG
Each (§) stands for 2 shapes. O

(c)

Shapes Used to Decorate Janice’s Bedroom

Square @ @

Circle ® 6 6

Rectangle @ e 6 6

Triangle @ @

Star ®6® 6000

Each @ stands for 4 shapes. O




Read the report and study the picture graph.
Then answer the questions.

‘Q Tuition Classes
Recently, it was reported that many pupils in Singapore have private

tuition. A reporter did a survey with a group of primary 2 pupils and
the results are shown in the picture graph below.

(
0o 15 05
{

-
@
@
e !
®
@ !

25
) (2
5

L] 33

-
e !
L

= Tuitionin 1 Tuition in 2 Tuitionin 3
No Tuition subject subjects subjects

Each . stands for 2 pupils.

(a) Most pupils have tuition in D subject.

(b) D pupils took part in the survey.

(c) Janice wants to make another picture graph.
She can use each @@ to stand for D pupils.




Name: Class: Date:

Drawing Picture Graphs with Scales

;%}

Mrs Foo has different types of fruits that she wants to give her
pupils during ‘Eat a Fruit Day’ on a Friday.

\_ oranges bananas

J
The picture graph below shows the number of each type of fruit.

Number of Each Type of Fruit

@

Q

Q Q

Q @ )

@ Q D

@ Q @ Q@
@ Q Q Q
Q Q Q @

Apple Banana Orange Pear
Each © stands for 2 fruit.

s the picture graph drawn correctly?




Janice found these items for sale in a bakery.
She wants to show the items in a picture graph.

pretzels

brownies




Colour the correct number of stars to show the number of items.

Items for Sale in a Bakery

Each

e

‘stands for '2'_items.ﬂ




The number of pupils in each class who wear glasses are
shown below.

2A 2B 26 2D 2B

6 12 3 15 6

Ravi uses the data to draw a picture graph.

Number of Pupils Who Wear Glasses

2C 2D

(@) Inthe graph, each

stands for D pupils.
(b) The classes that have the same number of pupils wearing

glasses are D and D

() Class 2D has D more pupils who wear glasses than
Class 2C.




Class: Date:

BZ \Worksheet 4

Ravi recorded the number of vehicles in the car park at his school.

Vehicles Number
Cars 74
Vang 12
Buses 2
N\otorbikes 9
Trucks %

Help Ravi present his data in a picture graph.

Colour the cor

rect number of Q to show the data.

Number of Vehicles in School

Car

0]0]0[0[0]0]00

OOO00000

Bus ¢

0]00[0]0]0[0]®

Motorbike =

7

O0O0O00000

OO0O00000

Each O stands for 3 vehicles.




The chart below shows the number of each type of animal Siti
saw at the zoo.

Lion Monkey Giraffe Crocodile
?“.‘*ﬂ
ol
A uhm. &
5 10

Monkey

«:’.-
-

_ Giraffe
bt

0y

el

+ 4* Zebra

) Crocodile

2

Each stands for 5 animals.

Does the picture graph show the data correctly?
If not, where are the mistakes?




Name: Class: Date:

Solving Problems Using Data in Graphs
Bl Worksheet 5

The picture graph shows the number of storybooks bought by
each primary 2 class.

Number of Storybooks Bought

7\ stands for 2 storybooks.

(@) Which class bought the most storybooks? D
(b) Class 2D bought D more storybooks than Class 2C.

(c) Class 2E bought @ fewer storybooks than Class 2B.

(d) Which classes bought 2 more storybooks than Class 2E?

ars




Q The picture graph shows the number of pupils who have a
certain amount of pocket money every day.

&
&=
® o o o
® © o o o
® © o o o
®e o o o o |
® o o o o
® o o o o
$1 $1.50 $2 $2.50 $3

Each @ stands for 3 pupils.

(a) There are as many pupils who get $2 a day as $ D

(b) D pupils get $2.50 in pocket money each day.

(c) Aplate of chicken rice and a bottle of drink cost $3 altogether.

There are C] pupils who can buy this meal.

(d) The pocket money of 30 pupils is $1.
Did the picture graph show the information correctly?
If not, where is the mistake?




Name: Class: Date:

0 The picture graph shows Ravi’s weekly savings over 5 weeks.
Ravi’s Savings Over 5 Weeks

Week 1 Week 2
Each /\ stands for $5.

(@) Ravi wants to buy a watch that costs $50.

He is able to buy the watch by Week D
(b) Ravi buys a shirt for $10 in Week 1.

How much of his savings is left? $ D

() Write a question based on the graph using the words
‘more than'.

(d) Write a question based on the graph using the words
‘less than'.




Q Peter makes a picture graph to show the number of pupils who
has bags of each colour.

Pupils’ Bags

Red

Blue

Green

Yellow

Black

Each ) stands for 10 pupils.

(a) There are as many pupils who have red bags as

bags.

(b) There are 40 pupils who have black bags.
ls it correct to draw (__J) ) __) to show 40 pupils?

() There are 20 more pupils with blue bags than black bags.
should Peter draw for blue bags? D

(d) There are D fewer pupils with black bags than green
bags.

How many (__




Name: Class: Date:

Rent opmdnce Tagk

Activity: Make a picture graph to show the number and colour of

each square tile. j’

Pupils will work in pairs.
Provide each pair with square tiles of different colours.

S 1 Countthe number of square tiles of each colour.

P2 Make a picture graph.

Number and Colour of Each Square Tile

Each| |stands for 2 square tiles.

Most of the square tiles are in colour.

How many square tiles of this colour do you have?




Problem Solving

In a certain estate, there are 4 blocks of flats.

i [ : =\E o P
e
i i - . = = £ Eis i

Block 30

Block 31

sock32 |[(AOOOOONOND

Each Q stands for 4 units on each floor.

Block 33

(@) Block 31 has 16 fewer units than Block 30.
How many units does Block 31 have?

Draw in the picture graph to show the number of units in this
block.

(b) How many more units does Block 32 have than Block 31?

Understand

o  What is the graph about?

o What does 1 Q stand for?

o How many will stand for 16 units?

Plan
o Draw a model to show Block 31 has 16 fewer units than Block 30.

82




Solve

o Draw a model.

(a) Block 31 will have D il
Jo -
Block 31 has D units.

o (_JO(_J-(J
Block 32 has D more units than Block 31.

Check

o (a) Find the number of units in Block 30.
10x 4 =40

«(Jo(J-0)
Block 31 has @ units.

o ()OO0

So, Block 32 has D more units than Block 31.




@? Math Journdl

Pupil can work in pairs.
The graph shows the number of ice creams sold by an ice-cream
vendor in a park at certain times of a day.

Number of Ice Creams Sold

o
-
9

8 a.m. 10 a.m. 12 noon 2 p.

C6CeiEC
COGOLE

000
Cee

=~
IS
T
3

Each \_) stands for 5 ice creams.

At what time were the most number of ice creams sold?
Why do you think this is so?




Name: Class: Date:

Section A
Choose the correct answer and write its number in the brackets
provided.

What is the number shown in the place value chart?

T

888

.m y e o) a3
(3) 304 (4) 403 ( )

How many tens are there in 3507
M 5 (2) 35
(3) 50 (4) 350 ( )

Q 3 tens 42 ones = :
(1) 45 (2) 72
(3) 342 (4) 423 ( )

Q Complete the number pattern.

(1) 41 (2) 140
(3) 239 (4) 241




/703 —C} = 135

The missing number in the box is
(1) 572 (2) 568
(3) 632 (4) 838 ( )

&) What does the picture show?

DBDBDE
e/ N\ \ W/ \ W%

(1) 4 groups of 5 (2) 5 groups of 4
3) 4+5 4) 4+5 ( )

&) Siti has 4 fifty-cent coins and 10 five-cent coins.
How much money does she have?
(1) $1.50 (2) $2.00
(3) $2.50 (4) $3.00 ( )

&) Peter exchanged a $2 note for 10 coins.
Each coin has the same value.
What is the value of each coin?
(1) 5cents (2) 10 cents
(3) 20 cents (4) 50 cents ( )

&) Look at the letters below.
Which letter has no straight lines?
(1 A (2) F
(3) S (4) Z ( )




@ Study the picture below carefully.

'
: —

(I

|II|III’III|||I A I I||||||||I||Il|
a1 2 3 e 5 6 7 8 9 10 11 12

The pencil is cm longer than the key.

(1) 19 (2) 10

(3) 9 (4) 3 ( )
m Look at the clock carefully.

Janice’s grandparents exercise at

every morning.

(1) 7.30 a.m. (2) 7.30 p.m.

(3) 6.35am. (4) 6.35p.m.

@ Which figure below shows thot% of its shape is shaded?

0 2
\/
(3) (4)

B ( )




) Peter divided a round cake into quarters.
He then divided one quarter into 3 equal
slices and ate one of them.

What fraction of the cake did Peter eat?

) 2 L

1
5 6

1 1
(3) o (4) 7

@ There were 7 ¢ of water in the pail at first.
There were 2 ¢ of water in each bottle.

Ravi poured 3 bottles of water into the pail.
What is the volume of water in the pail now?

The volume of water in the pail is

(1) 13 (2) 9
(3) 7 (4) 6

&) The mass of the apples is g.
(1 30
(2) 80
(3) 350
(4) 380




Section B

Work out these questions carefully and write their answers in the
boxes or blanks provided. Show all working.

Write 812 in words.

Q The digit 9 in 790 stands for 9 x @ :

@ Use all the digits 8, 7, 3 to form the smallest three-digit odd
number.

Answer:

) John's age is an even number between 30 and 40. His age can
be divided by 3 and 4. What is John's age?

Answer: John is years old.

¢4Y) Fill in the missing number in the box.




Look at the picture below.
Write 1 multiplication equation and 1 division equation.

N (N (D
AVAVIVAWVLY,
N (O
AV,

What does v stand for? Answer:




@ Mrs Teo baked 597 cookies on Sunday.
She baked 286 cookies on Monday.
How many cookies did she bake altogether?

997 286

P -
Ll | -

A

A
J

( ? )

_Jol -

She baked cookies altogether.

@ (@) What fraction of the figure is not shaded?

Answer:

(b) Arrange the fractions in order.
Begin with the greatest fraction.

1

J 1
2°7" 2




@ Each é stands for 10 apples.

ratso (D OEE st

Answer: apples
@ Look at the picture below.

What is the mass of the bottle of milk?

Answer: g

@ Arrange the containers A, B and C in order.
Begin with the container that has the smallest volume of water.

_

smallest




@ Copy the shape below to the square grid on the right.

N\

@ The figure below is made up of 5 triangles, 1 square and
1 rectangle. Draw dotted lines to show the shapes.




The graph below shows the number of marbles collected by
each child.

Our Marble Collection

Ali Gopall John Peter
Each

J stands for 4 marbles.

(@) Who collected the most marbles?
How many marbles did he collect?

(b) Gopal gave 8 of his marbles to Peter.
How many marbles does Peter have now?




Section C
Show your working clearly in the space provided.

A box contains red and green apples.

There are 69 red apples.

There are 30 fewer green apples than red apples.
How many apples are there in the box altogether?

€5 Aticket to a cinema show costs $10.
How much do 4 tickets cost?

€ 7 bottles of water were poured into a container.
Each bottle contained the same amount of water.
There were 21 £ of water in the container.
How many litres of water were there in each bottle at first?




@ Peter weighs 41 kg.
He is 11 kg heavier than Ravi.

Ravi is 2 kg lighter than Siti.

What is Siti's mass? @ kg

Peter

[

Siti

@ Janice saved $350 last year.
Peter saved $184 less than Janice.
Ravi saved $75 more than Peter.
How much did Ravi save?
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